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ي 2مياوگيه چُار عذد -15
4
xي 1ي

6
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01522درعثارت -20 4020  )()( yxyx حاصلyx كذام است؟
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
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6د(                                     7ج(                                                -4ب(                                          3الف( 
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  -2 د(                                       -1 ج(                                           1ب(                              2الف(

 

42اگر-77 x

32و  y
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 (91)تيشًَشانچند است؟

الف( 
8
3

ب(                               
3
8

 ج(                                         
4
3

 د(                                         
3
4

 



 

17 

1497اگر -78 13  xx
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